
Very Short Story Outline

(A)					     wants									         . 

because													             ,  

but _______________________ ________________				        _____gets in the way.
	

(B) _		  ____________will intercede by								      

___________________to get											            

 when) 													           

because 													               

and then 												            happens.

(A) solves the problem by 											            

														              .

KEY:
	 (A) represents the main character
	 (B) represents the obstacle (a person, thing, or event) that gets in the way


